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問 B.3.1(b) 

 

A＝(
0 1 𝑎
1 𝑎 2
𝑎 2 0

) を簡約化すると、 

(
0 1 𝑎
1 𝑎 2
𝑎 2 0

)  
①↔②
→    (

1 𝑎 2
0 1 𝑎
𝑎 2 0

) 
③−①×𝑎
→      (

1 𝑎 2
0 1 𝑎
0 2 − 𝑎2 −2𝑎

) 

①−②×𝑎

③−②×(2−𝑎2)
→           (

1 𝑎 2 − 𝑎2

0 1 𝑎
0 0 𝑎3 − 4𝑎

) 

 

ここで、𝑎3 − 4𝑎 = 0 とすると、𝑎 = 0,±2 

𝑎 = 0 のとき、 

A
（簡約化）

→       (
1 0 2 − a2

0 1 a
0 0 a3 − 4a

) = (
1 0 2
0 1 0
0 0 0

) 

 

より、rankA = 2 

𝑎 = 2 のとき、 

A
（簡約化）

→       (
1 0 2 − a2

0 1 a
0 0 a3 − 4a

) = (
1 0 −2
0 1 2
0 0 0

) 

 

より、rankA = 2 

𝑎 = −2 のとき、 

A
（簡約化）

→       (
1 0 2 − a2

0 1 a
0 0 a3 − 4a

) = (
1 0 −2
0 1 −2
0 0 0

) 

 



より、𝑟𝑎𝑛𝑘𝐴 = 2 

また、𝑎3 − 4𝑎 ≠ 0 すなわち、𝑎 ≠ 0 かつ 𝑎 ≠ ±2 のとき、 

A
（簡約化）

→       (
1 0 2 − a2

0 1 a
0 0 a3 − 4a

)
③×

1

a3−4a
→      (

1 0 2 − a2

0 1 a
0 0 1

)

①−③×(2−𝑎2)

②−③×𝑎
→          (

1 0 0
0 1 0
0 0 1

) 

 

より、rankA = 3 

以上より、 

A = {
2 (𝑎 = 0, ±2のとき)

3 (𝑎 ≠ 0かつ𝑎 ≠ ±2のとき)
 

∎ 


